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Q4 40 euros can be exchanged for £35.
How many pounds can be obtained for 100 euros?

: Make sure that
Ratio €80 = tlo the correct
TN s £(0.S0 units are always
included.

Z 81-So

@)

Q5 Calculate 5712 =7

__3_|é_ Correct use of formal
) ) NS I kg & division.

No marks for ‘chunking’.

316 3

Q6 Calculate 1302 + 14

3 Show workings. No
16 ] 130T marks for 'chunking'.
(16
42

qj) (2)

Q7 Calculate 26.:x.1.3 .
7  Multiplication

s of decimals.
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Q8 Calculate 32 — 20 X 0.4+3

1 mark for clearly
32- 349 — showing correct use
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and 4 packs of oranges. Apples are packed in

5 packs of apples ans_ - o oo
% I:u"rsb:ﬁd oF:aanSes e Paf;;e:o': ;e):: in total?
How man) items of rif b Show
¢ . sy $ + x A S
problem Solving with G+ 4
worded questions. - 10 + 14" =N,
Ll @
Given that 54 x 2018 = 108972, Identifying';*a_;h;" i us
Q10 find the answer to 18 x 2018 without multiplying. 18 = 54/3 Né"" o
Show your method. : ;,71{. ark
Ig <1014 = 10897 =3 for multiplying 201

r%}ﬁ' by 18.
2 )108Ni1

LuiS682.0

Q11  Arrange the following numbers in order from smallest to largest:

07 5 08 I 077 I 2 marks for
3 converting all te
97,085,2:8 000 HANOERAS into common fo

Convert back to original format for final answer.
O ORE) 5 1038 B X

Q12 Change the following to decimals

(i) 18710
(iii) 2 Q-3
20 .
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Favorite Musical Instrument
instrument | Tally ¢
drum o :
i
—‘u‘%: n 3
dlarinet I 2 |
trumpet A 5 .
violin n 4 1!
xylophone I 1 ]
(i)  How many pupils are there in the class? 1 mar 2
SHUSTL2 4G + La | corres
=1y 4
! B
(i) What fraction of pupils have violin as their favourite instrument?
CRR| .
20 4

(ii)) What is the probability that a pupil chosen at random has a fa '
instrument that is the guitar or clarinet? :
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Q17 Write down the coordinates of each point
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H y ;
cere are the ingredients 10 make du
100 grams of sell-raising four

mplings to accompany a stew.

4 teaspoon saly

50 grams of suet

_% teaspoon dried mixed herbs
Serves 4 people

Ginny wants to mak :
¢ dumplings for 6 people. Work out the amounts of each ingredient she needs.

Q19
(i)

Missing units will be
penalised 1 mark.

(i)

Q20

(i)

(if)

(iii)

1 mark for identifying

.that 1 1/2 lots of each Flour [ 1SO
ingredient is required. St
Herbs | ~— '/q

If the temperature yesterday was -5°C and rises by 9°C overnight, what is
the temperature today?

HE (1)

The weather forecast then says that the temperature will fall by 7°C
between today and tomorrow. What will the temperature be tomorrow?

-X°¢C @)

Remember to

include 1 x 14
List all the factors of 24

1L 1841510 @
Remember to

include 1 and 24 S :GBJ’L:’IA 3)

|s 287 prime? Explain why.

List all multiples of 14 which are less than 80

Must state at least one factor to show it is not prime.
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M f £2 bik
one-off fee of £Z per bIke.
hour plus a ple to ride bikes Cw

3.20
& :i:; ::ﬁﬁ?fuﬁi it cgsir in total for three peo
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Q22 Your flight departure time is 9.20am. You must check in 2 hours before
departure. The taxi journey to the airport takes 40 minutes and yo ‘
25 minutes between arriving at the airport and checking in.
What is the latest time you can get the taxi to make your flight on time!

/'5—\ _=4On, Ll 3
b:1s s 110 410

Must include 'am' notation or 06:15.

6: 1S e / 0b ”

Must have £ sign

Q23
() How many minutes are there in 2 and a quarter hours?

b0+bo+1s -RR< o
13S

(i) How many centimetres are there in total in 350mm and ,1-.»7‘ni|‘ ;...:
"I v L hom L
BeNo = W S )

(iii)  The perimeter of

‘Of a square is 6, .

6‘4% = 6((069.\ “'
blo <80 - § :
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Q27

Q29

1 mark for any two numbers whose 3, 3

h side of the triangle
the pumber S10S8 el corners. The first ar
ithmagon, i the L
Ina st ot ing up the numbers \his works. See if you can .
obiined B i, to show you how
e o thre arithmagons y
2 5 i
1 ; 4
13 ihil
8 10 _
\H
8 9 §
5 12 ¥
4
3 9 3 J |
13 n |
12 13 |
D G E
10 7
¥ :',‘tl[x
A piece of paper is cut in half repeatedly.

How many cuts are required to produce exactly 128 pieces?

DueUre LseLrelie Ll =118

N o b U

Two numbers multiply to 104 and add to 21. i
Work out what the two numbers are, :

13§ =10
P B

product is 104 or whose sum is 21.
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